
Anlage 1 Eriskirch

Ausgangspunkt: 45 insgesamt

15 Jahre insgesamt

Arbeitsplätze je Jahr (45/15 Jahre): 3,00

fiktiver Zuachs in %: 1,41

Jahr 1 3,00 0,04 3,04

Jahr 2 6,04 0,09 6,13

Jahr 3 9,13 0,13 9,26

Jahr 4 12,26 0,17 12,43

Jahr 5 15,43 0,22 15,65

Jahr 5 18,65 0,26 18,91

Jahr 6 21,91 0,31 22,22

Jahr 7 25,22 0,36 25,57

Jahr 8 28,57 0,40 28,98

Jahr 9 31,98 0,45 32,43

Jahr 10 35,43 0,50 35,93

Jahr 11 38,93 0,55 39,48

Jahr 12 42,48 0,60 43,08

Jahr 13 46,08 0,65 46,72

Jahr 14 49,72 0,70 50,43

Jahr 15 53,43 0,75 54,18


